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We Saw for a real example how we can get
a series of Xi from a coin flip process .

Could also get xit ,
from Xi by some rule

,
EG in MD

equations of  motion ( next I

Xi could also came from a series of measurements
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If we Sample from a dist and measure

a quantity ,
feels like we should approx the true value
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Sample mean
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Central limit theorem : if Xi taken from any PKI
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Classical Mechanics
Assume our systems will be classical
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Lagromgianhechn.io#

For conservative systems , there is another way to
so be classical problems called Lagrangian Mechanics :
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